
PRODUCT DATA 

FINISH(S): GLOSSY WHITE 
STEP FINISH(S): ONE STEP POWDER COAT 

1 1/4' 5/ 
:4 1/4' 4/: 

# 
-

1 

-

2 

3 

4 -- �r ... 
5 

?"-��-
-

.� -

J - - � - --,,. J� 
-

e{ ,0)" � -=GJB 
"' ., 
(') -' N "' . :::: 

0 ... 

(') °l :::: r 
� 

...'"'
,n 

rr= 
Llffi 

-
� ....

. 

V-
5/16' DIA, 

HOLES 

USE THIS AS REFERENCE 
HEIGHT HEIGHT WHIDT WHIDT 

)=, 

:2 1/2' CIC 4/: 

:9 1/2' C/C 5/: 

ONLY
DEPTH WEIGHT (LBS.) 

�a, • 

N 
1 

:::: -
� 3 

I � � 4 

,=!.,,. 
... "' 

5 ' 
"' ., fl "' 

( ...... D -
-

' -"' 

� � -
. 

. -
-
-
-

ISU 

B 

.... 
.... 

.... 
#OF CTNS CARTON DIMS 

SHEET 
HARDWARE 
NEEDED? 
y_x __ 

N-  DESCRIPTION 

HARDWARE BAG #367501 (FOR BED) 
(4)1/4-20 X 1 3/4• COUNTERSUNK ALLEN 

HEAD SCREW 
(4)1/4-20 X 1 • FLAT ALLEN HEAD SCREW 
(4)1/4-20 HEX NUT 
(8)1/4• ID X 5/8" OD FLAT METAL WASHER 
( 1) ALLEN WRECH
-
-

HARDWARE BAG #367502(FOR BED) 
(4)1/4-20 X 1 3/4• COUNTERSUNK ALLEN 

HEAD SCREW 
(4)1/4-20 HEX NUT 
(4)1/4• ID X 5/8" OD FLAT METAL WASHER 
( 1) ALLEN WRECH
-
-

LEG EXTENSION #385402 
-

PLASTIC GLIDE #150940000 
NOTE: PLASTIC GLIDE PRE-INSTALLED 
-
-

DATE REVISION 

06---18---13 ADDING CARTON INFORMATION 

.... .... 
.... .... 

.... .... 
cu FT. U.P.S.

SIZE HDBD FTBD HDBD FTBD BED BED HDBD BED HEADBOARD BED HDBD y N 
3/3 - - - - - - - - - .... .... - - - -

4/6 55 35 54 1/4 54 1/4- 34 20 1 1 57 1/2 X 37 1/2 X 3 1/4 56 1/2 X 37 3/4 X 2 1/2 4,083 3,086 - X
5/0 55 35 61 1/4 61 1/4 - 36 22 1 1 64 1/2 X 37 3/4 X 3 1/4 63 1/2 X 37 3/4 X 2 1/2 4,579 3,468 - X
6/6 55 35 77 1/4 77 1/4- 41 25 1 1 80 1/2 X 37 3/4 X 3 1/4 79 1/2 X 37 3/4 X 2 1/2 5,715 4,342 - X

D-BED - - - - - - - - - - - - - - -
- - - - - - - - - - - - - - - -

MATERIALS: ALL TUBE CARBON STEEL AND ALUMINUM CASTING 



PRODUCT DATA SHEET 

FINISH(S): GLOSSY WHITE 

DOMESTIC_-_ 
IMPORT X 

STEP FINISH(S): ONE STEP POWDER COAT 

_1 1/4' 5/ 

:4 1/4' 4/-

.... 

-

# 
-

1 

-

2 
3 
4 
5 
-
-
-

HARDWARE 
NEEDED? 

y_x __ 

N-

 DESCRIPTION 
HARDWARE BAG #367501(FOR BED) 
(4)1/4-20 X 1 3/4• COUNTERSUNK ALLEN

HEAD SCREW
(4)1/4-20 X 1 • FLAT ALLEN HEAD SCREW
(4)1/4-20 HEX NUT

(8)1/4• ID X 5/8" OD FLAT METAL WASHER
( 1) ALLEN WRECH
-
-

HARDWARE BAG #367502(FOR BED) 

�-� 
=-

-·-1 
�

�=.,. urr,
., 

1 (4)1/4-20 X 1 3/4• COUNTERSUNK ALLEN
- HEAD SCREW

USE THIS 
HEIGHT 

SIZE HDBD 
3/3 -

4/6 55 
5/0 55 
6/6 55 

D-BED -
--

l in 

.f:!12)� 
1-·

··r1j -

� "j 

�"' ·� 
T --

_2 1/2' C/C 5/ 

:9 112• etc 5r 

AS REFERENCE ONLY 
HEIGHT WHIDT 
FTBD HDBD 

- -

35 54 1/4 
35 61 1/4 
35 77 1/4 
- -
- -

WHIDT DEPTH 
FTBD BED 
- -

54 1/4-
61 1/4 -
77 1/4-
- -
- -

WEIGHT (LBS.) 

-

34 
36 
41 
-
-

�a, • 

-

20 
22 
25 
-
-

� 

rB 
3 (4)1/4-20 HEX NUT
4 (4)1/4• ID X 5/8" OD FLAT METAL WASHER

"l 5 ( 1) ALLEN WRECH

"r--T"" - -
- -

.rr!r.. n· 
LEG EXTENSION #3854021r -

- -
- PLASTIC GLIDE #150940000
- NOTE: PLASTIC GLIDE PRE-INSTALLED
- -
- -

ISU DATE REVISION 

B 06-18-13 ADOING CARTON INFORMATION 

- - -
- - -

- - -
#OF CTNS CARTON DIM'S CU FT. U.P.S.
BED HDBD BED HEADBOARD BED HDBD y N 
- - - - - - - -

1 1 57 1/2 X 37 1/2 X 3 1/4 56 1/2 X 37 3/4 X 2 1/2 4,083 3,086 - X 
1 1 64 1/2 X 37 3/4 X 3 1/4 63 1/2 X 37 3/4 X 2 1/2 4,579 3,468 - X 
1 1 80 1/2 X 37 3/4 X 3 1/4 79 1/2 X 37 3/4 X 2 1/2 5,715 4,342 - X 
- - - - - - - -
- - - - - - - -

MATERIALS: ALL TUBE CARBON STEEL AND ALUMINUM CASTING 



PRODUCT DATA SHEET 

FINISH(S): GLOSSY WHITE 
STEP FINISH(S): ONE STEP POWDER 

-

COAT 

'17 114· 

DOMESTIC_-_ 
IMPORT X 

-..

A���✓
--

.. 

--

.. ib 

--

# 
-

1 

-

2 
3 
4 
5 
-
-

HARDWARE 
NEEDED? 

y_x __ 

N-

 DESCRIPTION 

HARDWARE BAG #367501(FOR BED) 
(4)1/4-20 X 1 3/4• COUNTERSUNK ALLEN

HEAD SCREW
(4)1/4-20 X 1 • FLAT ALLEN HEAD SCREW
(4)1/4-20 HEX NUT 

(8)1/4• ID X 5/8" OD FLAT METAL WASHER
( 1) ALLEN WRECH
-
-

l "' "' 
C") -'"' � 

� 

M 

� f
j -

'Z' -"1 rr?J:'� 
_.dY �,� 

� 

�� !��I� J� HARDWARE BAG #367502(FOR BED) -
� 
� 1 (4)1/4-20 X 1 3/4• COUNTERSUNK ALLEN

- HEAD SCREW
:2 � 3 

' 
-M 

,n 

r---

:. 
� 

"�-� C\J 
... 
� 

• v-
s'�Kr�A, 

'7:5 1/2' C/C 6/ _ 

'76 3/4 

USE THIS AS REFERENCE ONLY 
HEIGHT HEIGHT WHIDT 

SIZE HDBD FTBD HDBD 
3/3 - - -

4/6 55 35 54 1/4 
5/0 55 35 61 1/4 
6/6 55 35 77 1/4 

D-BED - - -
- - --

WHIDT DEPTH 
FTBD BED 
- -

54 1/4-
61 1/4 -
77 1/4-
- -
- -

WEIGHT (LBS.) 

-

34 
36 
41 
-
-

�a, • 

-

20 
22 
25 
-
-

(4)1/4-20 HEX NUT

=� 
' ... ' 

(Y) 'iD R 4 (4)1/4• ID X 5/8" OD FLAT METAL WASHER M 

__J 5 ( 1) ALLEN WRECH 
- -

...' 
M - -

F Ill - LEG EXTENSION #385402
- -
- PLASTIC GLIDE #150940000 
- NOTE: PLASTIC GLIDE PRE-INSTALLED
- -
- -

ISU DATE REVISION 

B 06-18-13 ADOING CARTON INFORMATION 

- - -
- - -
- - -

#OF CTNS CARTON DIM'S CU FT. U.P.S. 
BED HDBD BED HEADBOARD BED HOBO y N 
- - - - - - - -

1 1 57 1/2 X 37 1/2 X 3 1/4 56 1/2 X 37 3/4 X 2 1/2 4,083 3,086 - X 
1 1 64 1/2 X 37 3/4 X 3 1/4 63 1/2 X 37 3/4 X 2 1/2 4,579 3,468 - X 
1 1 80 1/2 X 37 3/4 X 3 1/4 79 1/2 X 37 3/4 X 2 1/2 5,715 4,342 - X 
- - - - - - - -
- - - - - - - -

MATERIALS: ALL TUBE CARBON STEEL AND ALUMINUM CASTING 



PRODUCT DATA 

FINISH(S): GLOSSY WHITE 
STEP FINISH(S): ONE STEP POWDER COAT 

✓
--

� 
"""'-. 

DOMESTIC_-_ 
IMPORT X 

'17 1/4 

-
....... � 

� 

# 
-

1 

-

2 
3 
4 
5 
-
-
-

1 

-

3 
l .,"'
::,; 

� � f"ii .

��� 
_-dr f" � 

"flfy '"�� 
4 

� 5 
I•-� 

-

-
... 

� ..... �-=- b -"' 
on 

--- -' --

'75 1/2' CIC 6/:. -

'15 u4· -

-
-

ISU 

B 

-
-

USE THIS AS REFERENCE ONLY -

SHEET 
HARDWARE 
NEEDED? 

y_x __ 

N-

 DESCRIPTION 

HARDWARE BAG #367501(FOR BED) 
(4)1/4-20 X 1 3/4• COUNTERSUNK ALLEN

HEAD SCREW
(4)1/4-20 X 1 • FLAT ALLEN HEAD SCREW
(4)1/4-20 HEX NUT

(8)1/4• ID X 5/8" OD FLAT METAL WASHER
( 1) ALLEN WRECH
-
-

HARDWARE BAG #367502(FOR BED) 
(4)1/4-20 X 1 3/4• COUNTERSUNK ALLEN

HEAD SCREW
(4)1/4-20 HEX NUT

(4)1/4• ID X 5/8" OD FLAT METAL WASHER
( 1) ALLEN WRECH
-

-

LEG EXTENSION #385402 
-

PLASTIC GLIDE #150940000 
NOTE: PLASTIC GLIDE PRE-INSTALLED 
-
-

DATE REVISION 

06-18-13 ADOING CARTON INFORMATION 

- -
- -

- -

HEIGHT HEIGHT WHIDT WHIDT DEPTH WEIGHT (LBS.) #OF CTNS CARTON DIM'S CU FT. U.P.S.
SIZE HDBD FTBD HDBD FTBD BED 
3/3 - - - - -

4/6 55 35 54 1/4 54 1/4-
5/0 55 35 61 1/4 61 1/4 -
6/6 55 35 77 1/4 77 1/4-

D-BED - - - - -
- - - - --

-

34 
36 
41 
-

-

�a, • 

BED 

- -

20 1 
22 1 
25 1 
- -

- -

HDBD BED 
- -

1 57 1/2 X 37 1/2 X 3 1/4

1 64 1/2 X 37 3/4 X 3 1/4

1 80 1/2 X 37 3/4 X 3 1/4
- -
- -

MATERIALS: ALL TUBE CARBON STEEL AND ALUMINUM CASTING 

HEADBOARD BED HDBD y N 
- - - - -

56 1/2 X 37 3/4 X 2 1/2 4,083 3,086 - X 

63 1/2 X 37 3/4 X 2 1/2 4,579 3,468 - X 

79 1/2 X 37 3/4 X 2 1/2 5,715 4,342 - X
- - - - -

- - - - -


	Rhapsody Bed Full and Queen HDBD
	Rhapsody Bed Full and Queen FTBD
	Rhapsody Bed King HDBD
	Rhapsody Bed King FTBD



